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“BibnwE S (SOs: HFHME)

1 BEEH 1BEYEH BT .
I “ FRQ | | mEss
G| AMME| F F |0 Tppmt | 0.0dppmt | THEE| Lo | 2WLEGELC | T T
8% B B % B ff | EiERRC | mitENC | OREE| . 0.04ppmE | mm;
& M E b ‘E”
5 084 084 ' it LORE
| (ppm) |(BERD|[ %) | (B) | (%) | (ppm) | (ppm) Ex - 80 | (BHO-#®EHx)
- H29| 360 0. 001 0o [0.o] o |0.0/0.028] 0.003 O 0
th & b H30 363 0. 001 0 0.0 0 0.01(0.018| 0.003 O O
11X
R1 | 364 0. 001 0o [0.o/] o |o0.0/[0 068 0.004 O 0
i éemg 363 0. 001 0o [0.o] o |0.0/0. 026 0.003 O 0
z—
7 R BB % H30 362 0. 001 0 0.0 0 0.01(0.018| 0.003 O O
R1 | 365 0. 001 o [0.o] o |0.0]0.071] 0.005 O O
— b zE#E (NO : FRHE)
=S BEAE 1 B e E FRENO1BHEY
. 7 S 7 B T E - i
AE B =] # NEEIE B D 98% fE
E (8) (BRI (p pm) (p pm) (p pm)
- H29 362 8,685 0.002 0. 060 0.007
g |H30 320 7.703 0. 001 0. 055 0. 006
R1 363 8,712 0. 001 0.054 0. 005
H29 363 8,678 0.002 0.087 0.012
Z—BE7
nmx |[H30 363 8. 679 0. 002 0. 068 0.007
R1 364 8,717 0.002 0. 055 0.008




T E#HE (NOs : AFHHE)

1RFYEN 1REHER FRD .
= 0. 06ppm % |0. O4ppm KLt| 1 FEFEIE | 1 BT RIEEE
. B 7E B FEHIE L o & D
B E B #ikA%L |0. 06ppm UT| D R =& E D )
E EE NBHLT0OFA 98% fE
(BFRED (ppm) B) | G | (B) | O (ppm) (ppm) | (EHO-KEHX)
H29 8, 685 0.009 0 [0.0] 0 (0.0 0.048 0.020 @)
fi*@ H30 7,703 0.009 0 [0.0] 0 (0.0 0.042 0.018 @)
R1 8,712 0.007 0 (0.0 O (0.0 0.043 0.016 @)
_ . [H29 8,678 0.009 0 0.0 O 0.0 0.042 0.019 @)
;;éi H30 8,679 0.008 0 |[0.0] O 0.0 0.044 0.017 @)
R1 8, 7117 0.006 0 (0.0 O (0.0 0.067 0.015 @)
R IRME (S PM @ F[H1{H)
\ \ BT
| I I I R
HEHAEE | & F [0.20m/ m*|0. 10w/ m® 1 B o i
|l am o |meemae | smeane | O mo oy | o | EORR
BER - - B 1= 1B B 5h i 2 BULER | (REMEE)
E LiCt0E-8
(B) (mg/m) | (BE) | (o) | (B) | (%) | (mg/m) | (mg/m) | (§x -8O) |(ERO-KERX)
H29 360 0.021 0 [(0.0] O |0.0] 0.141 0.043 @) @)
iz?E H30 361 0.019 0 |0.0] O |0.0] 0.110 | 0.042 (@) @)
R1 364 0.018 0 |00 O |0.0] 0.109 0.042 (@) @)
_ .|H29 359 0.020 0 (0.0] O |0.0| 0.100 0.043 @) @)
;;é; H30 361 0.020 0 [(0.0] O |0.0| 0.096 0.041 @) @)
R1 362 0.017 0 |00 0 (0.0 0.137 0.040 @) @)
H29 358 0.010 0 [(0.0] O |0.0] 0.087 0.033 @) @)
E;g H30 361 0.026 0 |0.0] 0 |0.0] 0.164 | 0.048 @) @)
R1 362 0.024 0 |0.0] 0 |0.0] 0.159 0.049 @) @)
_ H29 359 0.025 2 (0.0 O (0.0 0.272 0.054 @) @)
;$f§ H30 361 0.024 0 |00 0 |0.0] 0.131 0. 051 @) @)
R1 362 0.021 0 |00 O |0.0] 0.154 | 0.049 @) @)




MR R E (PM 2. 5 @ FRE)
AMBE g ¥F BEYESN 35. Oug/mé % | 1 BT {E D A¥HE0 Iﬁrﬁg%
| am o | seaseons | mmm | @ £ DL
B E B (REMEFE)
E (R) (yg/m) (R) (%) (pg/m®) (pg/m) (EHO - % x)
H29 359 15.6 6 1.7 111 33.5 X
W o
th 8 H30 361 13.9 5 1.4 67 31.3 @)
R1 362 10. 8 0 0 65 27.1 @)
H29 358 15.9 4 1.1 101 32.5 X
HEAR
th 5 4 H30 361 14. 8 5 1.4 139 32.9 @)
R1 354 12.7 3 0.8 135 31.9 @)
_ .. |H29 361 16.0 10 2.8 187 36. 4 X
;$§ H30 361 14.5 6 1.7 80 34.3 @)
R1 362 13.6 8 2.2 122 35.3 X
JefbFA X2 b (0 x  ERME)
. {Eﬁa‘i E\ Ml | BRO 1 BEES | BRO 1 BEHES B fE D %FEIEIO) H& i
A E BIE | Bl & |0. O6ppm% |0. 12ppmit| 1B5FEE | & 1 EEE O H 8
= B | B R | 8A-RRCERE | ORNCERY NDixEE | DFEFEHE ’ ’
(B) () B) | (BE) | (B) | (B#) (ppm) (ppm) (20O - K& x)
H29| 365 5,427 95 604 0 0 0.105 0. 050 X
?j?*ﬁi H30| 365 5, 446 80 398 0 0 0.100 0.049 X
R1 | 366 5,479 79 481 0 0 0.107 0.048 X
_ . H29| 365 5,413 75 471 0 0 0.108 0. 045 X
;;é’ﬂf H30| 365 | 5,440 | 59 | 296 | 0 | 0 0. 100 0. 045 x
R1 | 366 5, 474 70 429 0 0 0.108 0.046 X
H29| 363 5,392 113 804 3 9 0.124 0. 055 X
HEh
h 2 g H30| 365 5,460 91 464 0 0 0.109 0.052 X
R1 366 5,479 73 436 0 0 0.107 0.049 X
_ H29| 365 5,460 94 635 0 0 0.111 0.052 X
;_.u?ﬁﬁ H30| 365 5,460 91 473 0 0 0.102 0. 051 X
R1 | 366 5,471 79 431 0 0 0.102 0.047 X
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@ A ffE

“ERIELNES(SO2: ARIE)

HARE : 201944 3 ~ 20204 3R

BIER BIEIER 48 | 5A | 6A | 7TH | 8A | 9A |10A |11RA |12A | 1A | 2R | 3R | &&t
R AR ABEBH 30 31 30 31 31 30 31 30 29 31 29 31] 364
B 7E BFE 717\ 742 718 737 739 718| 740 718| 720 742 694 741| 8726
B (ppm) 0.001| 0.002| 0.001| 0.000| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001
1BERIAY0. 1ppmZE#B X =B R4 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEEA0.04ppmZE B A -BE 0 0 0 0 0 0 0 0 0 0 0 0 0
1857 E D 5= = B (ppm) 0.046| 0.034| 0.016| 0.008| 0.027| 0.041| 0.027| 0.068| 0.012 0.005| 0.020| 0.014
1B FEHED RS E(ppm) 0.005| 0.008| 0.004| 0.002| 0.007| 0.004| 0.005| 0.014| 0.003| 0.003| 0.006| 0.003
A—BET7ABK|EMATEBH 30 31 30 31 31 30 31 30 30 31 29 31| 365
B 7€ BFfE 716| 742| 718| 735 736 718| 742| 715| 723| 742 694 741| 8722
1 {E(ppm) 0.001| 0.002| 0.002| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001
1BFREHY0.1ppm%Z 8 X 1= B RE1 28 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEA0.04ppmZTEZ A 0 0 0 0 0 0 0 0 0 0 0 0
185 E D &= = B (ppm) 0.054| 0.040| 0.026/ 0.011| 0.024| 0.033| 0.034| 0.071| 0.011| 0.009| 0.019| 0.021
1B FH{ED i {E(ppm) 0.005| 0.010| 0.008| 0.005| 0.007| 0.004| 0.006| 0.013| 0.004| 0.004| 0.006| 0.003




—iE=Ex (NO: AfEIE)

HARE : 201944 3 ~ 20204 3R

BIER BIEIER 4 | 5A | 6A | 7TA | 8A | 9A |10A |11A |12A | 1A | 2B | 3A | &&t
R AR ABEBH 30 31 30 31 31 30 31 29 29 31 29 31] 363
B 7E BFE 718| 742 718 740 739 718| 740 706| 715 741 694 741| 8712
14 {iE (ppm) 0.001| 0.001| 0.001| 0.001| 0.001| 0.002| 0.002| 0.002| 0.003| 0.001| 0.001| 0.001
185 fEE D &% = B (ppm) 0.012| 0.006| 0.015| 0.01| 0.015| 0.042| 0.015| 0.032| 0.044| 0.034| 0.054| 0.016
1BEYEDRESE(ppm) 0.002| 0.001| 0.002| 0.003| 0.003| 0.009| 0.003| 0.005| 0.013| 0.004| 0.008| 0.002
A—BET7ABK|EMATEBH 30 31 30 31 31 30 31 30 29 31 29 31 364
B € BF A 715 740| 718| 740 740 717| 742 714| 714 742 694| 741| 8717
1 {E(ppm) 0.001| 0.000| 0.001| 0.001| 0.001| 0.002| 0.001| 0.002| 0.004| 0.002| 0.002| 0.001
1857 E D &= = B (ppm) 0.02| 0.012| 0.009| 0.024| 0.014| 0.033| 0.019| 0.038| 0.046| 0.042| 0.055| 0.019
1B FH{ED i {E(ppm) 0.003| 0.002| 0.002| 0.005| 0.003| 0.011| 0.004| 0.009| 0.016| 0.007| 0.009| 0.003




“EAEZEZR (NO2: AREE)

HARE : 201944 5 ~ 2020434

BIER BIEIEB 48 | 5RA | 6A | 7R | 8B | 9A |10A |11A |12AR | 1A | 2B | 3R | &&t
R AR ADBAIEB# 30 31 30 31 31 30 31 29 29 31 29 31l 363
B 7E BFFE 718| 742 718 740 739 718| 740 706| 715 741 694 741| 8712
14 {iE (ppm) 0.007| 0.006| 0.005| 0.005| 0.005| 0.006| 0.008| 0.009| 0.011| 0.010| 0.010| 0.007
1E5EE D &% = B (ppm) 0.024| 0.018| 0.021| 0.023| 0.023| 0.024| 0.03| 0.035| 0.043| 0.033| 0.035| 0.026
1B HED &S E(ppm) 0.012| 0.01| 0.009| 0.009 0.009| 0.011| 0.014| 0.014| 0.02| 0.019| 0.017| 0.013
1851 H30.2ppm%Z 8 2 - BFRE1 4K 0 0 0 0 0 0 0 0 0 0 0 0 0
18RS HY0.1ppm LL_E£0.2ppm LL T 0D B RS £k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEH0.06ppmZEEZ A 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B F15{EA%0.04ppm L _E£0.06ppm LT 0D H £ 0 0 0 0 0 0 0 0 0 0 0 0 0
ZA—BE7T ABIEBH 30 31 30 31 31 30 31 30 29 31 29 31| 364
ABXK B 7E B P 715| 740 718 740 740 717| 742| 714| 714 742 694 741| 8679
3 1B (ppm) 0.006| 0.006| 0.004| 0.004| 0.003| 0.004| 0.006| 0.008| 0.011| 0.009| 0.009| 0.006
185 E D &= = B (ppm) 0.03| 0.022| 0.016| 0.024| 0.016| 0.019| 0.031| 0.031| 0.037| 0.03| 0.067| 0.029
1B H{ED &S E(ppm) 0.014| 0.01| 0.008| 0.009| 0.008| 0.008| 0.012| 0.013| 0.019| 0.019| 0.017| 0.013
1BFfE1HY0.20pm%Z #E Z 1= B FE1 28 0 0 0 0 0 0 0 0 0 0 0 0 0
1851 HY0. 1ppm LL_E0.2ppm LL T 0D B RS 41 0 0 0 0 0 0 0 0 0 0 0 0 0
1B THEMN0.06ppmZ B A - # 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B F5{EA%0.04ppm L _E£0.06ppm LT ) H ] 0 0 0 0 0 0 0 0 0 0 0 0 0




=R (NOx: AE{E)

HARS : 201944 8 ~ 20204 3R

BIE B BIEIEHE 4R | 5A | 68 | 7R | 8A | 9B |10RA [11A | 12A | 1A | 2R | 38 | &5t
R AR AMBEBH 30 31 30 31 31 30 31 29 29 31 29 31] 363
B 7E BFE 718| 742 718 740 739 718| 740 706| 715 741 694 741| 8712
B (ppm) 0.007| 0.007| 0.006| 0.007| 0.006| 0.007| 0.009| 0.011| 0.015| 0.011| 0.012| 0.008
185 fEE D &% = B (ppm) 0.027| 0.023| 0.036| 0.026| 0.024| 0.049| 0.033| 0.043| 0.065| 0.067| 0.081| 0.038
A EHED RS E(ppm) 0.013| 0.011| 0.011| 0.012| 0.01| 0.016| 0.017| 0.015| 0.033| 0.024| 0.023| 0.015
BAEHIE NO2/(NO+NO2) (%) 91| 90.6| 834| 80.3| 849| 78.1| 836| 853| 77.8| 884| 874 904
A—BETABXK|EAE B 30 31 30 31 31 30 31 30 29 31 29 31 364
B E BFE 715| 740| 718| 740 740 717| 742 714| 714 742 694 741| 8717
T B (ppm) 0.007| 0.006| 0.005| 0.005| 0.004| 0.006| 0.007| 0.01| 0.015| 0.011| 0.012| 0.007
185 E D 5= = B (ppm) 0.036| 0.024| 0.024| 0.027| 0.024| 0.037| 0.038| 0.047| 0.062| 0.068| 0.117| 0.04
A EHED RS E(pm) 0.016| 0.011| 0.009| 0.01| 0.008| 0.019| 0.015| 0.017| 0.034| 0.026| 0.026| 0.015
BAEHE NO2/(NO+NO2) (%) 90.3| 91.8 87| 79.2| 743| 69.3] 836| 814 74| 814 79.3| 86.9




IR E (SPM - A fEfiE)

HARE : 201944 3 ~ 2020438

BIE R AEEE 48 | 58 | 6B | 78 [ 88 | 98 |1w0A |11A [12A [ 1A | 2B | 38 | #&t
Y A R AR AZAIEB# 30 31 30 31 31 30 31 30 29 31 29 31| 364
B 7 Bl 719 743 719| 739 741 719] 741 719| 714| 743| 695 742] 8734
1B (mg/m3) 0.017[ 0.021| 0.02] 0.017[ 0.018] 0.016] 0.015| 0.018] 0.021| 0.018| 0.019| 0.014
18 530.20mg/m3% B Z - ER 1 2% 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEN0.10mg/m3%Z B A -H %K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E D Bx = fB(mg/m3) 0.048| 0.047| 0.109| 0.087| 0.075| 0.065| 0.043| 0.091| 0.094| 0.075| 0.07| 0.055
1 B EH{ED &S E(mg/m3) 0.034| 0.036] 0.044| 0.046| 0.04| 0.027| 0.025/ 0.05] 0.051| 0.04| 0.042[ 0.03
Z—BHETAEX|EDBIEBH 30 31 30 29 31 30 31 30 29 31 29 31 362
pilbaicdil 719 743| 719] 715 739 719| 743 717| 714| 743| 695 742| 8707
1B (mg/m3) 0.018] 0.02| 0.019] 0.016] 0.017| 0.013] 0.013| 0.016] 0.021| 0.016] 0.018] 0.014
1B 530.20mg/m3% R Z =B 13K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FE{EA0.10mg/m3% B X 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
1R D Fx = fB(mg/m3) 0.063| 0.053| 0.137| 0.069| 0.079| 0.046| 0.061| 0.073| 0.122| 0.064| 0.07| 0.067
1B FED &S E(mg/m3) 0.039] 0.037| 0.045] 0.041| 0.035| 0.022| 0.022| 0.048]| 0.041] 0.035| 0.038]| 0.027
HEidER |ADATEBH 30 31 30 29 31 30 31 30 29 31 29 31| 362
B 7 B 719 743 718| 716| 738 716| 742 719| 715 743| 694| 741] 8704
1B (mg/m3) 0.024| 0.026] 0.027| 0.024| 0.025| 0.021| 0.022| 0.023| 0.027] 0.021| 0.025| 0.021
18 530.20mg/m3% B Z - ER 1 24 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEN0.10mg/m3%Z B A =B 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E D Bz = B (mg/m3) 0.068| 0.066] 0.09] 0.083| 0.079| 0.126] 0.159| 0.089| 0.129] 0.071| 0.085| 0.055
1 B EH{ED &S E(mg/m3) 0.044| 0.044| 0.055| 0.056| 0.049| 0.035| 0.03] 0.052] 0.052| 0.042| 0.052| 0.038
=HPER BxhAIEB# 30 31 30 29 31 30 31 30 29 31 29 31| 362
pilbaicdil 719 743| 719] 715 737] 716| 743 719] 715| 743 694 741| 8704
1B (mg/m3) 0.021| 0.024| 0.024] 0.02] 0.021] 0.017] 0.016] 0.021] 0.025| 0.019] 0.021| 0.017
1B 530.20mg/m3% iR Z - B3 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FE{EA0.10mg/m3% B2 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
1R D = fB(mg/m3) 0.072| 0.071| 0.154| 0.092 0.076| 0.082| 0.062| 0.089] 0.104| 0.069| 0.083| 0.073
1B FHEDHEE(mg/m3) 0.043| 0.043] 0.057| 0.054| 0.041] 0.031| 0.028] 0.056] 0.056] 0.041| 0.05| 0.038




FALZAFIHE U (Ox: AREIE)

HARE : 201944 8 ~ 20204 3R

BIER BIEER 48 | 5A | 6A | 7TH | 8A | 9A |10A |11RA |12A | 1A | 2R | 3R | &&t

R AR BREIDBIE B 30 31 30 31 31 30 31 30 31 31 29 31 366
B[E A 7 e 31 450 465 450\ 464| 463| 450| 463| 450 465 465| 433 461] 5479
BRED18HEED B FH1E(pm) 0.046| 0.054| 0.045| 0.029| 0.027| 0.026| 0.032| 0.029| 0.022| 0.025| 0.03| 0.036
BREID 18R EH0.06ppmZE B Z - B # 14 24 26 6 3 3 4 4 0 0 0 5 79
RS D 18R EHY0.06ppm%E #B Z T- B 5%k 104| 195 99 27 13 6 13 13 0 0 0 1] 481
B D 1B REEA0.12ppm L E D B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
RS0 18 RAEHY0.12ppm LL_E DB RS K 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D185 E D &% = B (ppm) 0.09 0.107| 0.095| 0.076| 0.072| 0.067| 0.067| 0.072| 0.049| 0.05| 0.057| 0.071
BE DS 15 EEO T E(ppm) 0.061| 0.071| 0.061| 0.041| 0.042| 0.041| 0.046| 0.045| 0.035| 0.038| 0.044| 0.048

ZA—BETAZK|BREDRIE B 30 31 30 31 31 30 31 30 31 31 29 31| 366
TR O B 7E B R 3 448 463 450 463| 463| 450 465 447| 465| 465 433 462| 5474
BREID18:FEED A F 4 {E(ppm) 0.045| 0.052| 0.041| 0.026| 0.025| 0.024| 0.03| 0.028| 0.02| 0.024| 0.03| 0.034
RS D1 EFRSMEHY0.06ppmZE B % 1= B # 14 23 14 4 2 1 4 5 0 0 0 3 70
RS D1 B REME HY0.06ppmZ #B % 1= B 12K 106 189 79 15 12 1 7 15 0 0 0 5| 429
BRI D 1B REEN0.12ppm L £ D B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
RS D1 EFREME HY0.12ppm LL_E 0D B RS £k 0 0 0 0 0 0 0 0 0 0 0 0 0
B E D1 BFEME D & = {iE (ppm) 0.094| 0.108| 0.091| 0.073| 0.07| 0.061| 0.065| 0.068| 0.05| 0.052| 0.06] 0.068
BRED &= 1FEE D F 5 {E(ppm) 0.06| 0.071| 0.059| 0.038| 0.04| 0.038| 0.045| 0.044| 0.033| 0.036| 0.045| 0.046




FALZAF AU (Ox: ATEIE)

HARS : 201944 8 ~ 20204 3R

BIER HIEIER 48 | 58 | 6B | 7B [ 88 | 9A |10A |11A |12A | 1A | 2B | 3R | #&&t
=R BREDRIE B 30 31 30 31 31 30 31 30 31 31 29 31| 366
BRE DB TE BRI 3K 450 465 450 464| 460| 450 465 450| 465| 465| 432 461| 5477
BREID1ERED B F5{E(ppm) 0.046| 0.051| 0.044| 0.028| 0.025| 0.026| 0.031| 0.029| 0.022| 0.026|/ 0.03| 0.037
RS D1 EFRSMEHN0.06ppmZ B Z 1= A 3 14 24 16 7 3 3 2 4 0 0 0 6 79
B D 1B REEAH0.06ppmZ% 8 2 - e %k 99| 170 93 23 8 6 7 13 0 0 0 12| 431
RS D1 EFRSMEAHY0.12ppm L E D B 0 0 0 0 0 0 0 0 0 0 0 0 0
R D 1B REMEAN0.12ppm L _E D BEE 5k 0 0 0 0 0 0 0 0 0 0 0 0 0
B E D1 B EME D & = B (ppm) 0.088| 0.102| 0.088| 0.074| 0.065| 0.065| 0.065| 0.07| 0.048| 0.051| 0.058| 0.071
BRE D& 1 FFHEE D T 9B (ppm) 0.061| 0.069| 0.06] 0.039| 0.04| 0.039| 0.045| 0.046| 0.035| 0.039| 0.044| 0.049
HEAdER |BREOBIEBH 30 31 30 31 31 30 31 30 31 31 29 31| 366
BRE DB TE B3 450 465 450| 464| 461 450 464| 450| 464| 465 431 465| 5460
BRED1ERBED B F 51 (ppm) 0.047| 0.054| 0.044| 0.031| 0.03| 0.028| 0.032| 0.031| 0.025| 0.027| 0.033| 0.037
RS D1 EFRSMEHY0.06ppmZ B Z 1= A 31 14 25 16 4 3 1 3 1 0 0 1 5 73
B D18 REEH0.06ppm% 8 2 -S4k 106 189 81 19 13 1 5 5 0 0 2 15| 436
RS D1 EFRSMEHY0.12ppm L E D B 0 0 0 0 0 0 0 0 0 0 0 0 0
R D 1B REMEAHY0.12ppm L _E D BEE 5k 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D1 B EME D & = {E (ppm) 0.088| 0.107| 0.097| 0.085 0.071| 0.062| 0.068| 0.075| 0.05| 0.051| 0.065| 0.07
BRE D& 1 FFEE D T 91E(ppm) 0.061| 0.072| 0.061| 0.044| 0.042| 0.042| 0.046| 0.046| 0.037| 0.039| 0.046| 0.049




WUNRLFIRYE (PM2. 5: ARIHE) £17: 2019484  ~ 202043 7

HIE B BIEIER 48 | 5B | 6A | 7B | 8B | 9A |10A (11A |12BR | 1A | 2B | 3B | &&t
W ER ARITEB# 30 31 30 29 31 30 31 30 31 29 29 31 362
B 7E Bl 719 742 719 716 737| 719| 741 718| 743 713| 695 742| 8704
B 1 g/m3) 11.7| 13.4| 124| 83| 95| 87| 93| 113[ 131| 118 115 88
1B FEHEDRSE( L g/m3) 242 256| 284| 227| 216 175 156| 346| 256| 307 31.1| 18.1
1HFEHBEM35 1 g/m3EBA A 0 0 0 0 0 0 0 0 0 0 0 0 0
1B F¥EA3S 1 g/m3IZFBZ -E| 5 (%) 00/ 00| o00f 00/ 00/ o00f 00/ 00/ 00/ 00/ 00 00
1R REE D =& E( 1 g/m3) 43 38 65 37 53 41 31 56 52 48 51 37
=HPER ADRIEB# 30 31 30 29 31 30 31 30 31 29 29 311 362
B 7E Bl 719 743 719| 715 739 716| 743| 719| 743 713| 693| 742| 8704
B 1 g/m3) 13.3| 158| 156| 11.6| 122 103| 11.3| 148 17.2| 144| 152 111
1B FEHEDRSE( L g/m3) 283 287 423| 311 27.1| 228 19.8| 415| 425 355 44| 238
1HFEHBEA35 1 g/m3EBA A 0 0 2 0 0 0 0 2 1 1 2 0 8
1B F¥EHIS 1 g/m3IZFBZ -E| 5 (%) 0 o 67 0 0 0 ol 67| 32| 34 69 0
1R REE D =& E( 1 g/m3) 65 49| 122 49 55 38 51 72 96 54 74 47
AEALFPER |BAEBH 30 31 30 29 31 26 27 30 31 29 29 31 354
B 7E B 719| 742 719 714| 739| 636 660 719| 743 714| 693| 740| 8538
B 1 g/m3) 135 157 148| 107 102| 93| 11.4| 131 155| 13.1| 141 101
1B FEHEDRSE( L g/m3) 258 31.9| 343| 31.1| 266 188 21.1| 386| 363 30[ 36.4| 205
1HFEBEA35 1 g/m3EBA A 0 0 0 0 0 0 0 1 1 0 1 0 3
1B F¥EH3S 1 g/m3ZFBZ 1-E| 5 (%) 00/ 00| o00f 00/ 00/ o00f 00/ 33 32 00/ 34 00
1R B D =& E( 1 g/m3) 53 48 67| 135 41 33 76 88| 112 46 66 38




() AERKGIRWERERER(GIITFE CFRR 3 1) g 22 R s THIE)

B png/m3

EmR BV e | o] G
NPy 0.99 0.41 2.1 3
U A=R=5 S % 0.024 (0.008) 0.066 130
FhIrumzFLo 0.11 0.032 0.24 200
run AL 1.0 0.33 2.6 150
T7Vmr=hKUL 0.024 (0.0097) 0.040 «2)»
WILE=LE ) ~— 0.014 0.0014 0.051 «10)
VA=R=Fi VN 0.22 0.11 0.47 «18)
1,220 7um A% 0.26 0.099 0.78 (1.6)
KER K O DALEY) 1.8 1.2 2.3 (40)
=y bEY 8.0 1.7 25 (25)
b #Z K OE DAY 1.5 0.31 4.1 ()
1,37 2T 0.052 0.018 0.10 €2.5)
~ TR OEDEY 21 7.1 54 €140)
T FTATE R 1.9 0.78 3.6 PRI 2%
AL ATV 1.5 1.2 1.9 PR 2%
71 LR OEY 3.1 1.5 5.7 R 2%
N7 7 2MEEY 0.074 0.006 0.17 PRI BLEE
Bib=F L 0.13 0.042 0.25 SR TE =S
%= 5.1 1.9 11 SR TE =S
XY U7 AROEDOILEY 0.0086 (0.0018) 0.045 ESIDE R
~r [a] BLv 0.16 0.10 0.29 R 2%
RILAT VT B R 2.2 0.8 3.2 ESIRE Y=

OWVTINOWE HAFE 12 [BIOH|E
SOE & NIRMEARm SR FIRMELL Bix (&) &£

R T IRAEA 1 (<RRHFIRME) & RRD



